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PLTORWIE L L.
() 2 BRKE nCy = ——o—— r <. 2IHRER
nl(m —n)!

(a4 b)" = nCot™ + nC1a" b+ ,Coa™ 2" + - - 4 Cpd"

ZHEWT, z>10DLkE

lim 2" = o0
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lim nz™ =0
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X 5T, R

LR

=1 n2

AP HT B & 5 e FER O 2R &£,



An English Translation:

L]

Basic Mathematics I

Answer the following questions.

(i) Let,,C, be the binomial coefficients ,,,C, =

|
S Using the binomial theorem
nl{m — n)!

(@ +bB)" = 1Coa™ + nC1a" b + nCoa™ 2 + -+ -+ nCb™,

show that

lim 2" = oo
=00

forz > 1.

Next show that

limnaz™ =0
n—ros

for0 <z <1

Let 2o # 0. Show that the power series

oG
E Gz
n=0

converges for any real number z such that {x| < lxg|, if the power series converges

at the point & = xg.

Next find the domain of the real number z such that the power series

CONVerges.
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{1,2,...,n} %
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LEDHS. DTOBWIER K.
(i) LoEfiRue LdGOMEMATERRNI & 2REE L,

m)msﬁamﬁﬁﬁﬁ%5%%+ﬁ%ﬁd,Tmﬁwés®¥ﬁ2@uﬁ?@5:a
2 EEAAE L.

(i) Wi ue V\ (LU{sh) 2 COBERTH B BETAHREE, « A% lowpt(v) zﬁ(u)
AT v EREOI L THAH I EEUE L.



An English Translation:

Data Structures and Algorithms

2

Let G = (V, E) be a connected simple undirected graph with a set V of n 2 2 vertices

and a set E of edges, let T = (V, F) be a spanning tree of G rooted at a vertex s € V,
and let £: V — {1,2,...,n} be a numbering on V, where we assume that the following
conditions {a) and (b) hold.

(a) For each edge uv € B, vertex u is either an ancestor or a descendant of v in 7',

(b) For each vertex v € V' \ {s} and the parent u of v in T, £(u) < £(v).
Let L denote the set of leaves in 7. For each vertex v € V, let N{v) denote the set of
neighbors of v in @, and let D(v) denote the set consisting of vertex v and the descendants
of v in T. Define a function lowpt : V' \ (LU {s}) = {1,2,...,n} such that

lowpt(v) = min{€(y) | ¥ € Usepy N@)}, v € VA(LU{s}H.

Answer the following questions.

(i) Prove that no leaf u € L is a cut-vertex in G.

(ii) Prove that a necessary and sufficient condition for the root s to be a cut-vertex in

G is that s has at least two children in 7.

(iif) Prove that a necessary and sufficient condition for a vertex u € V'\ (LU {s}) to be
a cut-vertex in G is that u has a child v in T" such that lowpt(v) 2 £{u).
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A mxnfifl, bEmIRTARZ MILETD, Az =b2AET nikRERT bV 2 BF
ETaeTs Z0OrE, ROBHEEMEP)2EZD.

i

(P) Minimize Zyi
i=1

subject to Ax=b
yizmi (?,mi,,n)
yi 2~z (i=1,...,n]

L, BREERE e,y eR"THS.
LFOWIZEA L.

(i) M (P) OXUHHREE E T
(i) M (P) " Eolifgz DI L 2R E.

120 2
A‘(o 0 5)’ b“(w)

YiA. COrE, HE(P) ORMEMEERD &,

(iti) m=2,n=3 &L,



An English Translation:

Linear Programming

3

Let A be an m x n matrix, and let b be an m dimensional vector. Suppose that there

exists an n dimensional vector z such that Az = b.

Consider the following linear programming problem (P):

(P) Minimize Eyi
i=1
subject to Ax =1b
s za:{ ('gm ].,..."."L)
Yi g Ty (IL: 1,...,?’1),

where the decision variables are , y € R™

Answer the following questions.
(i) Write out a dual problem of problem (P).

(i} Show that problem {P) has an optimal solution.

12 0 2
A‘(o 0 5)* b“(m)'

Obtain an optimal solution of problem (P).

(iii) Let m =2, n =3,
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An English Translation:

Linear Control Theory

4

A feedback control system is given by the block diagram shown in Figure 1, where P(s)

is a control plant, C(s) is a compensator, ¥ is an output, » is an input, u, is a control
command, ¢ is an crror, d is a disturbance, and 7 is a reforence input. Answer the following

questions.

(i) State the definition of the stability of the feedback system.
In what follows, assume that the compensator C(s) has the structure shown in Figure 2.
Here, G(s) and K(s) are transfor functions, and we assume G(s) = P(s).

(i) Calculate the transfor functions from r to e, r to u, d to u, and d to ¢, respectively.

(iif) Assume that P{s) is stable. Show that the feedback system in Figure 1 is stable if
and only if K'(s) is stable.

(iv) Let P(s) and K (s) be given as

1 b
e K {(5) = .
2+s+1 (s) s+a’

where @ and b are real constants. When r is the unit step function, the steady state

P(s) =

value of the output y is 1. When r = sin{, the steady state amplitude of the output
y is 2v/5/5. Caleulate @ and b.

d
T+ e %{»« y
~——&S 3——»_ C(s) PO~ P(s) B

Figure 1 Feedback system.

e -|— . T
- K{s)

G(s)

Figure 2 The structure of the conpensator C(s).
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An English Translation:

Basic Mechanics

D

A particle of mass m is moving through the air with the initial velocity being vg(> 0) in

the vertically upward direction and the initial height of the particle being 0. Let the force
of air resistance R be proportional to the square of the velocity v as R = v,y > 0 and

g be the acceleration of gravity. Answer the following questions.

(1) Obtain as a function of time ¢ the velocity of the particle while v(t) = 0.
(ii) Obtain the height of the highest point of the particle motion.

(iii) Obtain as a function of vy the time T' when the particle reaches the highest point,

and then obtain the limit of 7" when vy — oc.

(iv) Obtain the terminal velocity v, of the particle when ¢ — oc.
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An English Translation:

Basic Mathematics I1

6

Let f be a linear mapping defined by

f R > RY v Av
with an 7 x n matrix A. The kernel of f is defined by
N ={veR"| f(v) =0},

and the number of non-zero elements of a vector v = (v1,vs, . .. ,'un)T € R™ by
T
o(v) =) 8(v),
j=1
where | denotes the transposition and §(a) = 1 (a£0) Let d be a positive integer

less than or equal to n. Answer the following questions.

(i) Show that the dimension of the subspace V = {v € R" | v = f(u),u € R"} of R"

is given by
dimV =n—dimN.

(i) Show that if some d— 1 column vectors of the matrix A are linearly dependent, then

there exists a non-zero vector & € N such that o(z) < d.

(ili) Show that o(z) 2 d for any non-zero vector € N if and only if any d — 1 column

vectors of the matrix A are linearly independent.
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An English Translation:

Applied Mathematics

|

Consider

9(t)

=~ teR
2rap SN

and its Fourier transform

aEy = L [T et

where 7 represents the imaginary unit (% = —1). Define a function f as the convolution
of gand 7
10 = [ gt -9)g)as

o0

Answer the following questions.
(i) Obtain the Fourier transform g(£).
(if) Obtain the Fourier transform f(g ) of f(2),
(iii) Show that f(£) is not of class C* on R.

{iv) Show that f(¢) is of class C* on R.
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G=(V,E) ZHiRRE V, BEA B »S5H 3 BIMMERERS S 7, N=[C,w] % G
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FEULRWT & 2EEREE L.
w(u,v) + pu) —pv) 20, VY(u,v) € E.

(i) Wiz dHms eV &E(u,v) e EORVREET DL &, NIZABEBIELET S
Z &R k.
dist(s, u) + w(u,v) < dist(s, v).

(ili) FROBEAVHFETHDLRETD. HIWHEASCV 2 fifsec SALT,
So V\SANHEDDHL (u,v) € E DFT dist(s, u) +w(u,v) DEEENE T 2%
(wv) &5, ZOLE, dist(s,v*) = dist(s, u*) + wlu*,v*) BHY LD 2 L R
B XK.



An English Translation:

Graph Theory

2

Let G = (V, E) denote a simple, strongly connected digraph with a vertex set V and an

edge set £, and let N = [G,w] denote a network obtained from G by assigning a real
value w(e) to each edge e € E as its weight. A directed edge from a vertex u to a vertex
v is denoted by (u,v} and its weight is written as w(u, v). Define the distance dist(u, v)
from a vertex u to a vertex v to be the minimum summation of weights of edges in a
simple path from u to v in N. A directed cycle is called a negative cycle if the sum of

edge weights in the cycle is negative. Answer the following questions.

(i) Prove that N has no negative cycle if there is a set of real weights p(v), v € V such
that

w(u,v) + p(u) — p(v) 2 0, Y{u,v) € E.

(ii) Prove that N has a negative cycle if there is a pair of a vertex s € V and an edge
(u,v) € E such that
dist(s, u) + w(u,v) < dist(s,v).

(iii) Assume that the weight of each edge is non-negative. For a subset S CVanda
vertex s € 5, let (u*,v*) be an edge that minimizes dist(s,u) + w(u,v) among all
edges (u,v) € E directed from § to V '\ S. Prove that dist(s,v*) = dist(s,u*) -+

wlu*, v*).
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m
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LATF DRWIZE R L.

() 0 a e TIH LT, ROFERARD LD T & & RE.

h (i aib") < iaih(bi)

i=1
(i) BA#g & f AT H B Z & 2 RE.
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Maximize Zf(bi)ai
gzl

m
subject to Zai =1
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An English Translation:

Operations Research

3

Let h : R® = R be a convex function. Moreover, let ¢ : R - Rand f: RB® — R be

defined as ¢(t) = 2* and f(z) = g(h{x)), respectively.
For given vectors b' € R® (i = 1,...,m), let sets A € R*, I' € R™, and Q € R” be
defined as

A = (B85 07,

r = {aeRm Zai:xl, aizo(izl,.,.,m)},
i=1
Q = {meR":c:Zaibi,aEI‘},
i=1

respectively.

Consider the following nonlinear programming problem:

(P) Maximize f(x)
subject to « € €2.

Answer the following questions.

(1) Show that the following inequality holds for all o € T

h (ﬂz a,-bi) < iaih(bi).
t=1 i=1

(ii) Show that functions g and f are convex.

(i) Write out Karush-Kuhn-Tucker conditions of the following linear programming

problem.
m
Maximize Z F(b)oy
iml
subject to Zai =1
i=1
Cl{ig 0 (?:= 1,...,??’2,),
where the decision variables are o; (¢ = 1,...,m).

(iv} Let X™* be the set of optimal solutions of problem (P). Show that X* N A # §.
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An English Translation:

Modern Control Theory

1

Consider a linear dynamical system given by the state equation

d

E.L‘(f) = Az(t) + CTu(t), y(t) = Cz(b),

where A € R™", C € RY™", x(t) € R" is a state vector, u(t) € R is a control input,

y(t) € R is an output, and ' denotes transposition. Answer the following questions.

(1) Describe the definition of the observability of the system.

(ii) Show that if the system is observable and the real parts of all the eigenvalues of A

are negative, then there exists a positive definite matrix P € R™*" that satisfies

PA+ATP+CTC=0.

(iii) Let & be a positive integer, and n = 2k + 1. The (i, j)-entry (A);; of A, and the i-th
entry (C'); of C' are given by

[, fi-dl=Y e [ 1, i=k+l, |
=15 A0 @ {F SEE  si=18wan

Then, determine the observability of the system. Furthermore, find the dimension

of a minimal realization of the system.
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An English Translation:

Physical Statistics

D

Let X be a real-valued random variable over the infinite interval (—oo, oc) obeying the

Canchy distribution with a scale parameter v(> 0) whose density function is given by

p(X

) = 7

_ _ _ 3 ] _
= —ﬂ'(X2+ =T Define F(X) = aX — E’U <a<1,8>=0for X # 0. Answer the

following questions.

(i)

(i)

(1ii)

(iv)

: , . 1
Show that a random variable Y given by the transformation ¥ = =@ > () obeys
the Cauchy distribution p./(Y) with the scale parameter 7' = a—.
~
Show that a random variable Z given by the transformation Z = F(X) obeys the
/3
Cauchy distribution p.»(Z) with the scale parameter v = ay + —.
p+(X)

dF (X
p,}..r: ( Z) Fhe |

Define p(X|Z) = . Show that p(X|Z) satisfies the relations

> px12) =1,

Xef=1({Z})

0<p(X|Z) <1 for X € F'({Z}).

3 ) 0o
Show that when v = 1’— the average of entropy given by I = / S(Z)py(Z)dZ
a — D0

where S(Z) = — > xcp1iz) P(X|Z) In p(X|Z) satisfies the relation

h _f In

Here, one can use the fact that the transformation F(X) is ergodic with respect to

dF(X)
X

p,(X)dX.

a certain invariant measure given by a Cauchy distribution.
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An English Translation:

Mathematics for Dynamical Systems

6

Let a,b,c,d € R be constants and cousider the differential equation

d
t2d—f+(at+b}x =ct+d, (1)

where b # 0. For a positive integer n, a solution is called an nth-order polynomial solution
if it is an nth-order polynomial of ¢ containing a nonzero nth-order term. Answer the

following questions.

(i} Obtain a necessary and sufficient condition for equation (1) to have a first-order

polynomial solution, and express the condition with a, b, ¢ and d.

(if) Let n > 1 be an integer. Obtain a necessary and sufficient condition for equation (1)
to have an nth-order polynomial solution, and express the condition with a,b, ¢, d

and n.

(iif) Obtain a necessary and sufficient condition for equation (1) to have no nth-order

polynomial solution for any positive integer n, and express the condition with a, b, ¢
and d.



